Приложение № 4

Свойства оксида алюминия

1. Аl2О3 + 6НС1 (конц.)  2А1С13 + 3H2О
(80 °С)

2. Аl2O3 + 2НаОН(Т) = 2NaAlO2 + H2O

(900–1100 °С)
Al2O3 + 2NaOH (конц.) + 3H2O  2Na[Al(OH4]
(80 C)
3. Al2O3 + Na2CO3 = 2NaAlO2 + CO2

(1000–1200 С)

4. 2Al2O3 + 9C (кокс) = Al4C3 + 6CO

(1800 С)

Al2O3 + 3C (кокс) + 3Cl2 = 2AlCl3 + 3CO

(800–900 С)

5. 2Al2O3  4Al + 3O2



(900 С)

Свойства алюминия

1. 2А1 (амальгама) + 6H2O = 2А1(ОН)3 + 3Н2(Н° = –836 кДж)

2. 2А1 + 6НС1(разб.) = 2А1С13 + 3Н2
3. 8А1 + 30НNO3 (разб.) = 8А1(NО3)3 + 3N2О + 15H2O
8А1 + 30НNО3 (оч. разб.) = 8А1(NO3)3 + 3NН4NО3 + 9Н2О

4. 2А1 + 6NаОН(т) = 2NаА1О2 + 3Н2 + 2Nа2O
(400–500 С)

2А1 + 2NаОН (конц.) + 6H2О = 3Н2 + 2Na[А1(ОН)4]
(80 С)
тетрагидроксоалюминат (III)

5. 4А1 (порошок) + 3О2 (воздух) = 2Аl2О3
(сгорание)

6. 2А1 (порошок) + 3Cl2 = 2А1С13
(комн. t)
2А1 (порошок) + 3I2 = 2А1I3
(25 С, кат. капля Н2О)

7. 2А1 + 3S = Аl2S3
(150–200 С)

8. 4А1 + ЗС (графит) = Аl4С3
(1500–1700 С)

9. 2А1 + СrО3 = Аl2О3 + 2Сr
(800 С)
10А1 + 3V2О5 = 5Аl2О3 + 6V
(900–1100 С)

10. 8А1 + 18Н2О + 5КОН (конц.) + 3КNО3 = 8К[А1(ОН4] +3NН3 (кип.)
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